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Complete the sentences with the negative of be.

1.The birds in their nests.
2.This watch expensive.
3.The children at the park.
4.You responsible for the mistake.
5.They familiar with the rules.
6.She busy at the moment.
7.These shoes comfortable.
8.This puzzle easy.
9.1 in London.

10.He fifteen years old.
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Answers

1.The birds aren’t in their nests.

2.This watch isn’t expensive.

3.The children aren’t at the park.

4.You aren’t responsible for the mistake.
5.They aren’t familiar with the rules.
6.She isn’t busy at the moment.

7.These shoes aren’t comfortable.
8.This puzzle isn’t easy.

9.1 am not in London.

10.He isn’t fifteen years old.
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